PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
18th July 2016, 12:00 PM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

The Mid-Day Meal Scheme covers all school children studying in Classes in Government and

Government Aided Schools. / i8-8 e gier PeTal | qaﬁmﬁ%qg—cﬁ T P WP 3R
ROR! TTadT UTt @l | 2mire fHar T g1

e LIV

e I-VI

e I-VIII

e I-VII
Correct Answer :-I-VIII
2)
Question Stimulus :-

Find out the pair which is different from the other in the following question. / fauyd
9§ T JTd P S aIipat F e |

* Tree and plant / a@.’ 3R greT

e Wealth and money / Y49 3R T

e Wish and Desire / 1 3T rf¥reraT

e Heavy and light / 49} 3R ger
Correct Answer :-Heavy and light / 4} iR gel
3)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faweg

g iab sl AR R s Fau= g :

It is not true that both Akbar and Babar are great warriors / I 9 g1 & f& SF1 3R 3R
SR UEH AT §

()



* Akbar is a great warrior and Babar is a great warrior/ W@ﬂ'ﬁﬁ!ﬂ?ﬂ%&ﬁ?w
TP 7 ST 2

* Akbar is a great warrior or Babar is a great warrior/ WWW@@T %TITWW

e Ul @

* Akbar is not a great warrior and Babar is not a great warrior/WWH?ﬂ‘ﬂ@Tﬂﬁ
IR TR B TeH AT T ?

e None of the above / m?ﬁl?ﬁg Hé’l

Correct Answer :-Akbar is a great warrior or Babar is a great warrior / 3fhdax Tdh HglH

AlsT 8 91 916k T HeT™ dlal 8

4)
Question Stimulus :-

Who ordered the partition of Bengal? / T & Fede BT 3ATexT fpaq fear ur?
® Lord Curzon /?I"IJTS; W
® Lord Hastings / drs %’%‘W
 Lord Cornwallis / @IS ®I-alerd
* Lord William Bentinck / @S oo 9¢i®

Correct Answer :-Lord Curzon / A8 el

5)
Question Stimulus :-

X+Y means X is the daughter of Y, X-Y means X is the husband of Y, XXY means X is the
brother of Y. / X+Y BTAdAI g X, Y P19 8, X-Y FTHAAT € X, Y BT UM |, XXY BT HAAT & X, Y

P M Bl

If A+BxC, which of the following is true? / 'Qﬁ' A+BxC %, @ ﬁ'ﬁﬁ@{aﬁqu%?
° AisnieceofC/A,Cﬁ‘l-l?ﬁTrﬂ'%l
] AisdaughterofC/A,Ca"ﬁaEﬁ%l
o AisthecousinofC/A,Caﬂ'ﬂ%IﬁW%I
® A is the daughter-in-law of C / A, C Hﬁﬁg %I

Correct Answer :-Ais niece of C/ A, C I HaToll 21

©)



6)
Question Stimulus :-

A sales representative plans to visit each of six companies M, N, P, Q, R and S exactly once
during the course of one day. She is setting up her schedule for thg day according to the
following conditions: / T® fagrar ufafAf¥r = i1 9918 @1 98 ©: Hufaal M,N,P,Q,R 3R S # &3 T&
Hu1 A &9 F fharfafy o o7 vor IR SR 39+ 19 6t & SR 9@t 9 &1 i ag

1. She must visit M before N. / 1. 38 N 9 Tgd M 3 i@« 9wl

2. She must visit N before Q. / 2. 34 Q q Ugd N I fia=T Trfau|

3. The third company she visits must be P. / 3. I3} &U-1 SgT 98 S, 98 P g1 918

Which of the following must be true of the sales representative’s schedule? / IEEGIRIGIRICS
&1 HH W ey e § I v § 9 aifke?

* Visits M before Q / Q ¥ Ugd M ¥ firarit §

e Visits N before R / R d Ugdl N & frerdt §

* Visits P before M / M & Ugd P & fierdt &

e Visits P before S / S ¥ Ugdl P & e 2
Correct Answer :-Visits M before Q / Q ¥ Ugda M 3 firerdl g
7)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe qﬁrq
wil T T HuHl Te Fropuf & a8 § I8 @

Statements: / ®YA:

No book is a cook. / ®lIs forard ara=i &1 g1
All cooks are hooks. / I aadf ®ic gl
Conclusions: / e

I. One book is hook. / I.U® fdid &ier 2l

I1. Some hooks are books / II. $© wic fode 21
® Only conclusion I follows / Fad ey 1 e %
® Only conclusion II follows / ¥ad f~%py II fArHaar @

(4)



® Either conclusion I or conclusion II follows / IT di frssd 1 a1 fpe frspd 11 frpadr %
® Neither conclusion I nor conclusion II follows / ¥ i e 1 IECANGI % Gﬁ? T ﬁ freey 11

Correct Answer :-Neither conclusion I nor conclusion II follows / al e 1 Froaar % Gﬁ? -1 é’r
o 11

8)
Question Stimulus :-

How many times 'S’ exceeds_’Q’ in the word ‘"NSTDSHISDSDDSIOSN’'? /
‘NSTDSHISDSDDSIOSN’ ¥ # ' S’ fvaa ¥ ' Q' ¥ 3fiep 82

e 1

* 2

e 3

e 4
Correct Answer :-4
9)

Question Stimulus :-

Which of the following is known as the Diamond City of India? / ﬁTFI 3 foa AR P HRd &I sraws Rt

HEd 82
® Surat/d
® Panna /Al
* Mumbai/Has
® Jaipur / SIAYY
Correct Answer :-Surat / JId

10)
Question Stimulus :-

How many 5s are there in the following number sequence which are immediately preceded
by 7 and immediately followed by 6? / fRafifaa d@im srgwy & W fra "5" 8 o od "7 &
3R orT® qRA 91G "6" §? 755945764598756764325678

®* One / Th

(5)



* Two / T:.Pf

® Three / 4=

e Four / dR
Correct Answer :-One / Th
11)

Question Stimulus :-

The Headquarters of RBI is locatedin_____ ./ YR fYord S &1 HEITeg _'Ef R %l
* Delhi/ feeit
® Kanpur / PITYR
® Mumbai/Hd3
e Nasik / ATRI®

Correct Answer :-Mumbai / 93

12)

Question Stimulus :-

The “Silicon Valley of India” refers to / "RIfTepI delt 3TH sfear Eﬂﬁ Tefifa WT%
® Kulu valley / maﬁ:"r
® Hyderabad / %Wl_d
® Bangalore / GRS
® Kolar/ BIAR

Correct Answer :-Bangalore / STT@IY

13)

Question Stimulus :-

Who wrote the “Dashakumaracharitra”? / “Wﬁﬁ'ﬂ” fora= ot i
® Basavanna / §HJAT

® Kempegowda / Wﬁ:ﬂ

(6)



® Dandin / E'U:‘ﬂ'
® Kalidasa / PTG

Correct Answer :-Dandin / GUSI

14)
Question Stimulus :-

Indira Sagar dam was commissioned in the year ./ SR AR Ty qi | iﬂqm RIRIN
® 1985
* 1947
® 1998
® 2005

Correct Answer :-2005

15)
Question Stimulus :-
If nuclear weapon means hallucinations, and it’s not a nuclear weapon, then it’s not
hallucinating. / afe TRHTY 3RAR &1 Adad Afay¥ g, 3R 98 T WA gRAR T8l 8, a1 98 afayd
TE 8l
e True / Hgl
* False / TTdd
e Maybe / 8 ghdT1 &
e Irrelevant / URNIfI®
Correct Answer :-Maybe / & I&dT 8
16)
Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / ST} 3R W 3MHid B ¥7 &t ToT He1 & T wies fovar wirar B, at i fawen & @ &4
A fopey ¥ wae il ok o M waw & faudia @2

(7)



W T

=]

W

1]

Correct Answer :-

17)
Question Stimulus :-

Who is credited with the introduction of the “Mid Day Meal Scheme” in schools of Tamil Nadu?/ ?Iﬁlﬁ‘l’l_g' &

faemera # rSrugR WIS TSI B I B3 BT 47 Tt ST 82
* MG Ramchandran/@“ﬂ THGH

® K Kamaraj / & BTHRTS

® J Jayalalitaa / S STaeterdn
® CN Annadurai / 1T Gﬁ'l_g'f\"

Correct Answer :-K Kamaraj / & ®THITS

18)
Question Stimulus :-

What is the average literacy rate of Madhya Pradesh according to 2011 census? / 2011 Pt TIOMET & SR
He USRI P13 ATERAT & T 62

® 24.33%

* 69.32%
(8)



® 58.19%

® 75.2%
Correct Answer :-69.32%
19)

Question Stimulus :-

From amongst six boys A,B,C,D,E and F and five gil"ls P,Q,R,S and T, a team ‘_9f six is to be
selected under the following conditions : / ©: asaﬁ A,B,C,D,E 3R FH 3R U= as%ch
P,Q,R,S R T H A, ©: o+l @I &IW &1 (A9 zraf W 99+ fHar w1 8:

e A and D have to be together / A 3 D 91y # g+ Tty

B can’t be teamed with E / B 1§ E & I1Y 981 g1 Il

C and Q have to be together / C 3R Q Iy ¥ g1 =T

D can’t go with P / P & I1Y D gl &1 g&bal

C can’t go with S / S & HIY C T8 ST IHal

B and R have to be together / B 3i¥ R 91 # g9 13T

S and T have to be together / S 3R T 914 # g1 TIRT

If the team including C consists of four boys, the members of the team other than C are: /

IR € B fiaredr &9 IR a1 &1 T d, ¢ & sifalea 9 & o T g
* DEFAQ
e BEFRQ
e ADEPQ
e ABDQR
Correct Answer :-ABDQR

20)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg e gﬁq
st foT 7T Byl vd Frewef & TR o 9€ 81

Statements: / PYUA:

©)



All hotels are restaurants. / ot '@EHQ'RRT %'I
All restaurants are parks / I Y&Ri U &

Conclusions: / fIpd:

I. No parks are hotels. / I. &S UiP gled gl gl
II. All hotels are parks / II. 9" glca U &

e Only conclusion | follows / $ad %Py I foeaar g
® Only conclusion Il follows / pad forspd 11 frear 4
® Both conclusion I and Il foIIows/?.‘ﬂ:ﬁ foreed 1 GﬁT I1 ﬁlﬁﬁ %

® None of the conclusion I or II follows / ﬁ'ﬁb—ﬁf I9rIIw ﬁ '&ﬁ"&‘ qﬁﬁﬁh—ﬂ?ﬁ %
Correct Answer :-0Only conclusion Il follows / Had freed 1 Feadar %

21)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fdwe ﬂﬁt{
wit foT T Byl wd Frepel & TR & 9L B

Statements: / ®YH:

No pearl is ruby / &g Hidl Hifvr® 81 &
Some rubies are diamonds / S HIV® R &
Conclusions: / e

I. No pearl is diamond / I. IS Hldl gRT 81 &

II. Some diamonds are rubies / II. $© 81X HIfOI® &

® Only conclusion | follows / Had ey 1 Aeadan %

® Only conclusion Il foIIows/aﬁIﬁ forsed 11 freeadn %

® Both conclusion | and Il foIIows/?ﬂ:ﬁ fspd 1 Sk II e %

* None of the conclusion I or II follows / Fpd 1 A 11 § A Hi 18] FApadar @
Correct Answer :-0Only conclusion I follows / $ad f~rs®d I fereerdr g

22)

Question Stimulus :-

(10)



I. There is a group of five persons A, B, C,D & E. / 1. UTg afeaal A,B,C,D MR E BT TP dHe %I

II. One of them a horticulturist, one is a physicist, one is a journalist, one is an industrialist
and one is an advocate. / II. 398 ¥ T IUH faRvy g, & HWifds Ul 8, U6 TR 8, Th
el ® ok TP 9@ B

III. Three of them A, C and Advocate prefer tea to coffee and two of them B and the

journalist prefer coffee to tea. / III. 398 9§ @, A,C 3R THIT HIB! F IOl I THS B § 3R
3, B 3R TIPR 919 & ToIld HIB] UG Hd ol

IV. The industrialist, D and A are friends of one another but two of these prefer coffee to

tea. / IV. STUNTUR, D 3R A TP g&R & i § uig 37746 A Gl U1 & I B! UG H3d g
V. The horticulturist is C’s brother. / V. 3T 3wy ¢ &1 4 g1
Who is an Industrialist? / Eﬁﬁ%@ﬂ"ﬁﬁﬁ? %?

e E
e C
e B
e D
Correct Answer :-B

23)
Question Stimulus :-

'Operation Narmada' was organized by the Madhya Pradesh Police in the year ./ 'STIRRM ST

99 ¥ O USRI Yfa gIRT Smaifora e T Al
* 1973
® 1971
* 1961
® 1956

Correct Answer :-191

24)
Question Stimulus :-

He was Akbar’s eldest son / ¥ 3[@aR PT JqH ST REKIN
¢ Humayun / EII'ITL

(11)



® Babur /dTldR
® Jehangir / ST
® Shah Jahan / STESET

Correct Answer :-Jehangir / SIGIIR

25)

Question Stimulus :-

Which of the following is NOT a perfect square? / g # 3 oA EUf T qﬁ %?

® 23580732
® 13549767
® 20839225
® 34715668
Correct Answer :-20839225
26)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / I8 fd®e
gfe, St ad @1 = A R fjr Te Y= F TuE 7 :

If you are wearing a white dress, then you are an umpire. / 9f¢ 30 Tbe HUS UgH g, dl 37
TP MR &

e If you are not wearing a white dress, then you are not an umpire /Hﬁéﬂﬂmm@

T8 ug &, 9 3T SRR T §

e If you are not an umpire, then you are not wearing a white dress / gfe 39 TH SR

T8l &, &t 31Ty Tt HUS T UgI §U T

e If you are not an umpire, then you are wearing a white dress / af¢ 314 T TR gl

g, Y 3T e HUS Ug gU S
® None of the above / mﬂﬁﬂﬁé’?{ﬂ

Correct Answer :-If you are not an umpire, then you are not wearing a white dress /

e 3Ty T SFuTaR 81 8, 1 30 Hibg BUS T8 UgH g

27)

(12)



Question Stimulus :-

Study the following figure carefully and answer the question. The triangle represents
doctors. The circle represents players and the rectangle represents artists. /

3T BT AT F U BY 3R Ul 1 wrarg &1 Hpior siees) & guitar 81 9« fanrfsal &1 axiiar @
3R STIT FATHR] B gRiTar Bl

30 3

How many doctors are neither players nor artists? /fPpaq STz a1 st TR A
PATPR 82

e 30

° 22

o 27

e 38
Correct Answer :-27
28)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / 93 IGESY

gReiab sl R AR R s F U= T :

It is not true that both Satish and Sravan won the game. / 98 9 9g1 € & gIF1 Idiwr 3R yqur
a3 Q9 St 2

* Satish won the game and Sravan won the game. / FAT A W ST § 3R 4aur A @ sidr
gl

e Satish won the game or Sravan won the game. / AT A W SfiaT @ 9T 4901 3 [ Siar g
e Satish lost the game and Sravan lost the game. / Ift2r W B¢ 4T iR 491 Wd E1R T

e Satish won the game and Sravan lost the game. / AT A [ SfaT @ SfiR 44101 W R
Tl

Correct Answer :-Satish won the game or Sravan won the game. / Teft=T A Qe Sfiar g ar
(13)



YU 3 WA ST gl

29)
Question Stimulus :-

Which one of the following is in the concurrent list in the Constitution of India? / o d @ o9 91 yRdT

Hfaur & FHaddl gt 9 )
* Population control and family planning / STFRISIT forzror SR ufvarR Rt
* Public health and sanitation / ST- HATHYY Td IG5 dT
® Corporate Taxation / PIURE HRAUT
® Defence / T&T

Correct Answer :-Population control and family planning / S-S frizror ok ufvar e

30)
Question Stimulus :-

has the highest representation in Lok Sabha. / &I dArpayT ¥ 9y sarel ufafafiea %’l

e Uttar Pradesh / 3xI¥ FI%QT

® Rajasthan / ITSTRITA

® Tamil Nadu/a'&l?Fﬂ_g'
® Maharashtra / 'FIB'RTg

Correct Answer :-Uttar Pradesh / 3<% u%.ar

31)
Question Stimulus :-

Which of these states was earlier known as Dakshin-Kausal? / 9 I Ca| tl?ﬁ af?;rur-aﬁw =T H ST
SITCT UT?

® Karnataka / m
e Andhra Pradesh / 3{T¢ Q%QT

® Chattisgarh / @T‘ﬂ'\mﬁ
® Maharashtra / 'Fl?RTg

(14)



Correct Answer :-Chattisgarh / SUIRTIG

32)

Question Stimulus :-

Under the Income Tax Act, 1961, a ‘senior citizen’ has been defined as an individual who attains the age of

years at any time during a financial year. / 3[TI$HY SifUfra™ 1961 %T‘I@H, Y AN S' B 39 Tﬂ%%ﬁﬁ
Ry frmmmn g s e frm ad SR feft it awg . i St emg &1 81

e 54

® 60

® 65

® 58
Correct Answer :-60
33)

Question Stimulus :-

Who is the founder of Tata industries? / €ICI 33'&3“[ F JRTIF i %.?
® Jamshedji Tata / SHRIGS] 2TeT
® JR.D Tata / &. 3R. Sl. €TeT
® Ratan Tata / Id- CICl
® Cyrus Mistry / HIgH foreeht
Correct Answer :-Jamshedji Tata / STHRIGSIT €TT
34)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 9 Uy ¥, tga A gl & o9 foelt R A #I3 Hay 3| o fawenl & & @ur g g
foraeT FR Ue & 91y S YOR &1 I |

LOM : NQM :: PSQ:?
® RIH

® SHA

(15)



* RUQ

®* RHG
Correct Answer :-RUQ
35)

Question Stimulus :-

Kandariya Temple is located at_./a.‘)_cg'ﬁﬂT qﬁ? - ¥ @ %I
® Mandu/HIg
® Khajuraho / la\‘{mﬁ
® Maheshwar / Tg%R
® Omkareshwar / Gﬁ@'ﬁ%ﬂ

Correct Answer :-Khajuraho / @S[RT8!

36)
Question Stimulus :-

Kathakali is a famous dance form of this state / HYPA Y ITSY @t Tdh m T zﬁ?ﬁ %:
® Kerala / A
® Karnataka / HAICP

® Andhra Pradesh / 3“3[9%5&

¢ Tamil Nadu / GFRIGHTS

Correct Answer :-Kerala / 33d

37)
Question Stimulus :-

Kaliadeh Palace is situated on the banks of which river? / aﬁ%ﬂ:ﬂ%—&f aﬁ'ﬂ m Tﬁﬁ ® dc Wy @Rf %?
e Shipra /R
® Narmada / qﬂﬂT
* Ken /&

(16)



® Chambal / 9+

Correct Answer :-Shipra / 1

38)
Question Stimulus :-

Three friends want to hire a taxi for a trip. The taxi owner provides them with following

three options: / diF G U® I & forT U il fHE IR &A1 I8 &1 il Aifere 3= Rafafad
9 e ye™ & 3:

A. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for Rs. 500 per day. / A. 34 ﬁT-ITs'IEHT
SR fHRE R A Tod & IT@T = ufafes 2500 Fu€ g1 SR gosl Toldil & 3 Hdl § 0BT dad
500 ¥UY yfafe ghmi

B. You can hire the taxi with driver from the first agency. This would cost you Rs. 2800 per
day. But driver will have to be provided relief fund of Rs.250 per day if total distance

traveled exceeds 1500 KM. / B. muﬁqﬁ@ﬁﬁgma?m%mﬂams‘rm 2800 ufa &1
FUY BT Td T AP FIFAR BI UK G 250 FT Agd BIY ST SR, Al T eI BI AT BT 1500
fperiter 9 it gt

C. You can hire the taxi without an accompanying driver. This would cost you Rs. 2500 per
day. Driver can be arranged from another agency for 50 paise per KM. / 3llU fom

TR fvT R @ IHd 81 IS fH-mar ufafe 2500 T gHITI TSR g’ TSl I 31 Thdl § SHBT dad
50 99 i freiiies ghm

If the friends plan to travel to a place at a distance of 1500 kms and come back the next
day, which tariff option should they choose? / af¢ 3 fa=i 1 1,500 fFaliier $1 g8 W T& g
B I SR TR T AT 3 B AT ], <l I8 DI A1 faped g wifew?

e EitherAorBorC/Adl BYT C

Correct Answer :-C

39)
Question Stimulus :-

There are two words making the base pair. Find the similar pair of words from the

following / & <Teg STYR T T1 W6 §| 19 & A T0F Wi &1 T id DI

Malaria : Mosquito :: / HANRAT : BN &

® Poison : Death / SgR : g

(17)



® Rat:Plague / gl : T
® Epidemic : Bacteria / HE'ITI'I'\& . da T
® Cholera: Water / %Tlﬂ : O

Correct Answer :-Cholera : Water / 9T : U=t

40)
Question Stimulus :-

The national song of India is / HI< BT ?T@'q i %’
® Jana Gana Mana / ST 0T H+

Sare Jahan Se Accha /ﬂﬁ' Trlg"f T AT

Vande Mataram /a% HIARH

None of these/%ﬂﬁ q ?ﬁ'&; 7‘|75?f

Correct Answer :-Vande Mataram / 9= HTdRH

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-
If P: Q = 3::4, Q:R = 1:2, whatis P:R = ? / Gf¢ P:Q = 3::4, Q:R = 1:2 8, A/ P:R = 1§ ?
e 2:8
e 2:6
e 3:8
* 4:8
Correct Answer :-3:8
2)

Question Stimulus :-

In the following q}lestipn, one term in the number series is wrong. Find out the wrong
term. / 99 uy ¥, ¥@=Im S@er # U UG TAd €| T9d Ug 9 difod| 1,3,7,15,31,62

(18)



* 62
°* 31
® 15
Correct Answer :-62
3)
Question Stimulus :-

In a certain code DEAF is written as XYUZ. How is CAB written in the code? / foft @ His A DEAF BT xYuz

foran wIraT 8| 99 Bt # cas B FA forar wmar @2
°* VWU
* UVW
® XYU
* WUV
Correct Answer :-wuv
4)

Question Stimulus :-

(635/5)x1-7(49/49)+(3x90)-(132/11)=?
* 340
* 365
* 378
* 360

Correct Answer :-378

5)
Question Stimulus :-

A walks around a circular field at the rate of two rounds per hour while B runs around it at the rate of 5 rounds per
hour. They start in the same direction from the same point. They shall cross each other for every/ A T QTR ﬁﬂ'ﬁ

o S g ufer ger 3t fd A Terar 8 99 B 5 gaH Ul ger 3 1fa A 9P IR R diedr g1 4 TH B
fig 3 e & fo=m & yeeng #vd €13 31 &R TR fraq aug ¥ e @ @ UR 3

(19)



* 20 min/ 20 fiFE
e 15 min/ 15 e
e 25min/ 25 e
e 30 min/ 30 fiFE

Correct Answer :-20 min/ 20 fi9e

6)
Question Stimulus :-

Complete the series choosing the missing number: / AW TBAT TABY AT BT GRT BT :

134,245,356,467,
* 579
° 578
e 568
° 478

Correct Answer :-578

7)
Question Stimulus :-

What is the average of humbers between 0 and 100, which are divisible by 11? / 0 3 100
& & P 11 A faursa Jemel &1 sfiba waT 82

* 44

® 55

® 66

e 33
Correct Answer :-55
8)
Question Stimulus :-

(20)



What is the minimum number of straight lines required to make the following figure? / ﬁl’H GHQTI%[ &l g9 & ford
IAaH d@&T WS fpant At @i ot sraxawar g

T2
N

™~
~—

® 21

®* 19

® 25

e 23
Correct Answer :-19
9)

Question Stimulus :-

The series given below contains a sequence of qlpha.bets,.numbers and symbols. Iden_tify
the incorrect combination: / =g & ¥ Y@aT 31eRY T TBATSH BT IHH YA B! 8| Tad Jare-
LEEIEER]

(i) yc6rox&dfqw?7
(ii) yc6rox&dfdw?
(iii) yc6rox&dfqw?7

(iv) yc6rox&dfqwz7

® j

® iii

(21)



Correct Answer :-ii

10)

Question Stimulus :-

A tradesman’s charges are 20% over cost price, he allows his qustomer 10% off their bills for cash .
payment. What is his net gain percent? / T% RITU®R 1 a3l & JeI AN oI F 20% WG 8, PRI B,
9% 3TN TP B Adh¢ YHd & A 10% DI Fe DI STAM a1 81 SIS $A ATy Ufa=rd 132

* 12%
* 8%
* 10%
® 15%
Correct Answer :-8%

11)
Question Stimulus :-

Complete the series choosing the missing number: / AW IBAT FADHR 4@AT B QR BIOT :

13,32,24,43,35,_____ 46,65
® 45
° 52
e 54
® 55
Correct Answer :-54
12)

Question Stimulus :-

Complete the series choosing the missing letter/s: / fagu 31&R BT 4TAT B GRT PIOMT : ab _
a_c_bca _ _

® bachc

® chabc

(22)



® acabc

® abcbc
Correct Answer :-cbabc
13)

Question Stimulus :-

A number is decreased by 10% and then increased by 10%. The number so obtained is
10% less than the original number. What was the original number?/ Td J&AT P 10% HeT
foar Tan SR fBR 10% deT faar 741 1 39 UoR UId §3 9= a0 T-IT ¥ 10% $U g ga = &1 42

® 1100
® 900

® 1000
® 1200

Correct Answer :-1000

14)
Question Stimulus :-

Complete the series choosing the missing letter/s: / fA@W 31&R AHT 4TAT Bl [T BIFOIT : ab _
ca_ acaba _ _ bac

® abac

® abca

® acha

® caab
Correct Answer :-abca
15)

Question Stimulus :-

If ‘FAVOUR'’ is encrypted as PICCTRAE, how is ‘FOSTER’ encrypted as? / Ife ‘FAVOUR’ &I
PICCTRAE ¥ TAfY f&ar 741 8, 99 ‘FOSTER’ &1 &9 TAfhy fhar Smamm?

e QEWRVD

(23)



e EPRVDU
* GQTWFV
® EQRWOV
Correct Answer :-EQRWOV

16)
Question Stimulus :-

The LCM of 3a, 15ab is / 3a, 15ab HTLCM &
® 15ab
e 14ab
* Ab
®* None of these / Eﬁﬁaﬁs" el
Correct Answer :-15ab

17)
Question Stimulus :-

A earned 50% more than B and B earned 20% less than C. A earned more than C by/ A B
¥ 50% 3w FAT R B 3 C A 20% FH FUMAN A 7 C A a1 URIF FUrn

* 10%
* 12%
® 20%
* 15%
Correct Answer :-20%

18)

Question Stimulus :-

In how many ways can we arrange ‘n’ flowers in a garland? / T AT H ‘n W P! fraq TP A saafya fear =
F&dl §?

® (n-1)!

(24)



1
Correct Answer :-2 (n-1)!

19)
Question Stimulus :-

A two digit number is such that the product of the two digits is 72 and their sum is 17. The number is /

TS 1 3 DI =T 59 UPR 8 fF 3§ 3ic] &1 qUHwa 72 § 3R ITRT 4T 17 § | G ?
* 72
° 17
* 55
* 89
Correct Answer :-89

20)

Question Stimulus :-

3 1 1 3 1 1
5 4 4+x+2 2=10 8 Find the value of x. /5 4 +x+2 2=10 8 x $T 4 FA®1RIC]

1
Correct Answer :-

| =

(25)



21)
Question Stimulus :-

Two dice are thrown simultaneously. What is the probability of getting 4 on the both dice? / Epf LIE] @WQIWTI'Q

&1 G Ul OR 4 B T HUTGHT T 52
* 1/18
* 1/9
* 1/36
® 1/6
Correct Answer :-1/36
22)

Question Stimulus :-

In the sequence shown below, which figure comes next? / =g fR@R T H9 # 3FT! 3P
& At gift?

Eed X i* o e
a T @ &
by i ¥y g
el
@
r
[ ]
#*
&
by
[ J
g =
<
2
[ ]
. £
£
¥

(26)



<4

i

Correct Answer :-

23)
Question Stimulus :-
A can do a work in 12 days and B in 16 days. They undertook to do it for Rs. 6000 with the help of ‘C’
they completed the work in 6 days. What is the share of A? / A Th ®H ® 12 o7 § FY Par § SR B
16 f&1 #1 3T SH 6000 FW H HA1 a9 faa 3R «C> 1 Tgaar & S5 & &1 6 fal # o
foan A &1 fowa fam 82

® Rs. 2880 / 2880 ¥UT

® Rs. 3000 / 3000 =UU

® Rs. 1440 / 1440 =UT

® Rs. 2400 / 2400 =0T
Correct Answer :-Rs. 3000 / 3000 &U¢
24)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / A9 38 T8 IR udl & A = 3 T vad & Sie I9H $19 91 vF T8I 82

United States Canoe and Kayak Team

E-Mail: usckt@aol.com

Indianapolis, Indiana
(317) 237-5690

(800) 733-4976

(i) United States Canoe and Kayak Team

E-Mail: usckt@aol.com

Indianapolis, Indiana
(317) 237-5690

(800) 733-4976
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(ii) United States Canoe and Kayak Team

E-Mail: usckt@aol.com

Indianapolis, Indiana
(317) 237-5690

(800) 733-4976

(iii) United States Canoe and Kayak Team

E-Mail: usckt@aol.com

Indianapolis, Indiana
(317) 237-5690

(800) 733-4976

(iv) United States Canoe and Kayak Team
E-Mail: usakt@aol.com

Indianapolis, Indiana

(317) 237-5690

(800) 733-4976

® iii

® jv
Correct Answer :-iv
25)

Question Stimulus :-

If '"PRACTICE’ is encrypted as ‘PICCTRAE’, how is ‘FLAMES’ encrypted as? / gfe ‘PRACTICE’
$1 'PICCTRAE’ J TA$Y a1 741 8, 99 ‘FLAMES’ & &4 TAfehy forar Smam?

®* FEMALS

(28)



®* FALEMS
®* FMELAS
® FALMES
Correct Answer :-FMELAS
26)

Question Stimulus :-

Robin purchased an old car for Rs. 73500.He spent Rs. 10300 on repairs & paid Rs. 2600
for its insurance. Then he sold it to a mechanic for Rs. 84240.What was his percentage gain

or loss? /3 U@ R R 73500 3UT # WA ST TS| AW W 10300 IUA T T 3T 39U
éioov;Qﬁmﬁmaﬂaml iR I 98 BR TP AH S Bl 84240 =T ¥ o7 §1 IHST ATY ferra
* 3.5%
* 45%
* 25%
* 1.5%
Correct Answer :-2.5%

27)
Question Stimulus :-

Three persons are walking from A to b, Their speeds are in the ratio of 5:4;3. The time ratio to reach B will be/ GiG|

AfHT A A B T I IR &1 ST Tiadl 5:4;3 P JuTd § €1 B T UG & 11T IHY BT 3rgurd g
* 5:4:3
e 3:4:5
* 20:15:12
* 12:15:20
Correct Answer :-12:15:20

28)
Question Stimulus :-

In a certain code FLOWER is written as EMNXDS. How is GAMBLE written in the code? / foddft @ #is ff, FLOWER

(29)



%1 EMNXDs oRaT SITdT 8] 99 oY & GAMBLE P $d for@T SIraT 82
* HCODNG
® FBLCKF
® BFCKLF
* DMXNES

Correct Answer :-FBLCKF

29)
Question Stimulus :-

Two dice are thrown simultaneously. What is the probability of getting the same number of

both the dice? / & U T& 1Y B Y §1 1 URN TR UF S GG §H B THGAT T 872
* 1/6
* 1/4
* 1/3
* 1/9
Correct Answer :-1/6
30)

Question Stimulus :-

If ‘"METAPHER’ is encrypted as ‘EMATHPRE’, how is ‘"NORMAL’ encrypted as? /
gfed *“METAPHER’ &1 ‘EMATHPRE’ & TAfhy fo5a1 70T 8, 99 "NORMAL’ &1 % Ty
far sraET?

e ORMLAN
e ONRMLA
¢ ONMRAL
® ONMRLA
Correct Answer :-ONMRLA

Topic:- Science and Simple Arithmetic

1)

(30)



Question Stimulus :-

What is the modern method of irrigation ? / ﬁ:ﬁﬂ'é' Gl Gﬂ?;[ﬁlﬂ? T | %?

® Chain pump. /%F'l uq

® Pulley system (moat). /ﬁRTﬁ LU S ”E’I%"

® Lever system ( Rahat ). / Id® YuImelt “i%?"

® Dripirrigation. / SGH ﬁﬁng

Correct Answer :-Drip irrigation. / 04 ﬁ'-ﬁ'l'{'

2)

Question Stimulus :-

Following table shows the grades obtained by the students of four sections viz.
A, B, C and D of class Tenth of Ram Manohar Boys School. Answer the following
questions using the information provided. / 5 aift® I v a5®! & AT a1 e
qdl & TR 0 edfd A, B, C 3R D & STl gRT Ut AT fexard) 81 SUas #1188 SMSR! BT IUART H

o ueli & IR I
Grades/ &oraf
Sections /a7t | First/T6@T | Second /GET Third /T
A 12 18 25
E 10 23 17
C ) 22 15
by 14 24 12

If a student of class tenth of the school is randomly selected, what are the chances that he belongs to section Aor C? /

fermera 9 wen eud & UE O B HERMRT 1 A AT ST 7, 1 YT § fF a8 @l A 71 ¢ F sinfa smar g2

° 44%

® 50%

® 525%

® 555%

Correct Answer :-50%
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3)
Question Stimulus :-

Following table shows the grades obtained by the students of four sections viz.

A, B, C and D of class Tenth of Ram Manohar Boys School. Answer the following

questions using the information provided. / 7 difereT W TR ds&i & faee™T o Ham

ﬁ?ﬁ;ﬁﬁgﬂh& B, C 3R D & B! gRT U AT T 81 Sudsy H1S 7§ THBR] BT STANT B
q IR <l

Grades,/ oMt
Sections /@i | First/TgeT | Second ,-“E::EI’«.."I’ Third/da=T
A 12 18 25
= 10 23 17
C t:] 22 15
[y 14 24 12

What percentage of the total students in all the sections got Second grade? / gt oot & w Juft = 9 SE BT
wia=a & 82

® 11.5%
® 25%

® 345%
® 435%

Correct Answer :-43.5%

4)
Question Stimulus :-

The seat of a sofa sinks more if a person stands on it than if a person sits on it. This is

bea':ause/Wﬁﬁ?aﬁ?ﬂ?wwﬁr%wﬁaﬁaﬁaﬁ&ﬂﬁéﬁﬁﬁmﬁ?ﬁﬁwmﬁm%

® Pressure exerted on the sofa is less / b YR T TAT qld ©H %
® Our weight is acting on a small area / TURT aoH ®H 87 A SR 8T 8
® Our weight is acting on a large area / THRI dud El@; 83'2’ x| mm%

® His feet are flat & broad / w%ﬁvmmiﬁ%%

(32)



Correct Answer :-Our weight is acting on a small area / §HRI 9o $H &7 A SABRI gidT @

5)

Question Stimulus :-

The number of solutions for the pair of linear equationsx+y=2and x+y=5is ./ x+y=23ﬁ?x+y=5
Ydg afieror & g & e gl 3 "= g8l

* 0

* 1

* 2

® |Infinite / 3Fd
Correct Answer :-0
6)
Question Stimulus :-

In an isosceles triangle ABC, if AB = AC and D, E be the midpoints of AB and AC
respectively, then BE = / T qufgarg AYst ABC ¥, afe AB=AC & 3R
D,E 4T AB 3R AC & 7 fig &, df BE=

® BD
® BC
e AD
® CD
Correct Answer :-
7)

Question Stimulus :-

Clothes made from synthetic material are not safe to be worn while working in the kitchen

because / HRae i ¥ 9 HUS WS H HH B T UgH F R TRfga T8 919 e
® They absorb less water / § TH U RNV Bd &
® They make us feel hot / 9 B TTH T HIATd &
® They can catch fire easily / 379 STHTH § 3T & SIT<T &

(33)



° Theysﬁcktoourbody/ami’m"\"\efﬁWﬁlﬁ%

Correct Answer :-They can catch fire easily / STH 3T A 3RT &R ST} 4

8)
Question Stimulus :-

Frogs lay eggs in water . They hatch out and develop in to a young one called / Hewb
o ® 313 3 §1 9 3iS ¥ Fiwad & vd o1 ©u A fAwRia gid €1 3% =1 #gd &2

® Nymph /ﬁﬁIF

® Tadpole /%:‘»"Cﬁﬁ

® Juvenile / fraz

* Baby frog / T Hed
Correct Answer :-Tadpole / ST

9)

Question Stimulus :-

1] 2

What is the ratio whose terms differ by 40 and the measure of which is ?2/

S USl P SJUTd T eI T 3faR 40 8§ T oM A 7 g2
® 36:76
® 20:70
® 16:56
® 10:50
Correct Answer :-16:56
10)

Question Stimulus :-

Which of t.he follpwing values of A and B satisfies, sin (A + I;% =sin A + sm B? /
fufafad @ 9§ A T B &1 319 |1 7 sin (A + B) = sin A + sin B & Ug¥ &3l 872

* A=0%B=90°

(34)



e A=45°B=45°

® A=30°B=30°

e A=60°B=30°
Correct Answer :-A =0° B =90°
11)

Question Stimulus :-

‘A’ sells a bicycle to ‘B’ at a profit of 25% and B sells it to C at a profit of 25%.
If C pays Rs. 2500, what did A pay for it? / ‘A’ 25% & @Y WR ‘B’ & TH

T 8 T B 25% AT TR 39 C & 99 a1 81 Ife € 2500 FUGl &7 YIa Hal 8, A 3 305
fere foamm yrar fear?

® Rs.1625
® Rs. 1500
® Rs. 1600
® Rs. 1300
Correct Answer :-Rs. 1600
12)

Question Stimulus :-

Following table shows the grades obtained by the students of four sections viz.

A, B, C and D of class Tenth of Ram Manohar Boys School. Answer the following

questions using the information provided. / 7 aiftreT I v ier ds&! & faee” o Har

ﬁ?ﬁ;ﬁﬁg{u&r& B, C 3k D & o gRT urw AT Rl 81 SUdsy 1S 71§ SHBRI HT SUANT B
u I Gl

Grades/ Aol
Sections /@9t | First/9gaT| Second /GET Third /AT
A 12 18 25
B 10 23 17
C 5] 22 15
O 14 24 12

If a student of class tenth of the school is randomly selected, what are the chances that he either “belongs to section B

(35)



and got first grade” or “belongs to section D and got third grade”? / faerTera @t we qudl ¥ TP B Ca) HHRR &1
q AT 4T 8, T GUTST ¢ & a8 a1 @t @i B F sianfa amar & i It ugelt Joft ong 3~ ar R @i D &
e T & SR ST A Joft o 872

® 155%

® 135%

® 13%

® 11%
Correct Answer :-11%
13)
Question Stimulus :-

Which part in a Veena produces sound? don ¥ & %T\‘:IT tafr IRT HIdT %’?
® Air- column / Q’q?'-iﬁ?m
® Stretched String / & BT YT
® Stretched Membrane / &t §'&F B
® Hollow box / WRgar fesar

Correct Answer :-Stretched String / T&aT gaim 4w

14)

Question Stimulus :-

Huge electric spark in the sky before the rain cause / v 3 ﬂ?ﬁ 3MHHTH A foorell &t aw AR & &R
g1 8

® Lightning / IEGLI

® Thunder / UG

® Hailstorms / 3frerayor

® Cyclonic storms / TsHaTdl qWTA

Correct Answer :-Lightning / faoralt

15)
Question Stimulus :-
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Which of the following is not degradable? / {9 # & ®I9 97 81 81 IPaT?
e Silksari / YR B! AK
® Cotton shirt / 9O oy
® Jute bag / qe &1 Adr
® Polythene bag / ure = @1 Aar
Correct Answer :-Polythene bag / GTei i &7 ddT

16)

Question Stimulus :-

Highest percentage of carbon is present in / BT I I=dH Ufa=radr Eﬂ'ef JufRIT ﬁ?ﬁ %

* Anthracite / SYTHTSC
® Bituminous / fgA=It
® Lignite / ﬁl’ﬂﬁ'c’

* peat/Ule

Correct Answer :-Anthracite / SUTHTSC

17)

Question Stimulus :-

Earth worms are “farmer's friend'. Why? /aﬁq forart & e '6-1% %.I +al?
® They burrow the soil and thus aerate it /% ﬁl?f @Eﬁ % 3R e UhIR 3ITH Bdl HId %
® They form food for farmers /%r W'Fﬁ % ﬁnz Q-ﬁTFH 37“% %
® They eat away the microbes in the soil / q ﬁl@ i ﬁ&ﬂiﬂ'ﬁ'ﬂ-’f P WIHT 3% [+33 I %
® They eat plastic waste /3 IPR WIS B T &

Correct Answer :-They burrow the soil and thus aerate it /% fi@’f @E'a' % \?rﬁ'\r e UbIR Gﬂ'ﬁ Bdl 'J-Rﬁ
?

18)
Question Stimulus :-
The average distance of the planet Mars from the Sun is 141,600,000 miles.
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This can be represented using standard form as / QICf A HIA e Cd|
3 gl 141600000 Wa 81 59 AFS &9 § ¥ et foar s gwar 21

* 1.416 x 10° miles

* (.1416 x 10° miles

* 14.16 x 107 miles

* 1.416 x 108 miles
Correct Answer :-1.416 x 108 miles
19)

Question Stimulus :-

The cell after reaching a certain size / PIIPHT TP HIf¥a ATSH W UgaH & 91
® Divides into two / &I & fauTRra gt &It
* Bursts /T STt @
® Stops functioning / BTH BT a¢ B ool §
® Degenerates / [UYEE BT Tl §

Correct Answer :-Divides into two / & # faHTISTd 81 WITdt @

20)
Question Stimulus :-

The shaded region in the figure is called . / = ¥ smifed &3 seard

® Minor sector / ¢Tq reads
® Major sector / 'cﬂ'Ef I EGE
® Minor segment / ¢4 TS

® Major segment / 'c'ﬁ"if TS
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Correct Answer :-Minor sector / Y Fsa@s

21)
Question Stimulus :-

Area of a square ABCD is 256 m2. Find the area of the triangle ABC. /an ABCD &T 870 d 256 Y 2 %I B ABC

EPEL R ICEd EL
e 200 m? /200 Hiex 2
o 128 m?/128 Wiex 2
e 64 m?2/ 64 Tiex 2
o 32m?/32 e ?
Correct Answer :-128 m?/ 128 Hiex 2

22)
Question Stimulus :-

The major contributor to global warming is / fayamft arusw gfe A wga avaar &9 82
* SO,
* CO
e CO,
e CFC
Correct Answer :-CO,

23)

Question Stimulus :-

T

kx Xk
For what values of k, can the quadratic polynomial ., can be factored into

real linear factors? / k & &1 6l & fore, fgura sgug m:_gx_:;f, Pl IRAfd® G
HR®| B UFRES fHar o1 Tbar 82

0

1

k=4
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Correct Answer :-

24)

Question Stimulus :-

Following table shows the grades obtained by the students of four sections viz.
A, B, C and D of class Tenth of Ram Manohar Boys School. Anhswer the following
questions using the information provided. / & difti®T IW TR & & AT o Ham
Tadl & IR @ orufa A, B, C 3k D & Bl gRT Ut ARMT R 31 SUds HR13 1§ AHGR! HT ITART &

Fre wall & SR &l
Grades; AoTaf
Sections /a¥it | First/TgeT | Secand /ZEAT | Third /e
. 12 s b
® 10 = 4
i i 22 I
? 14 b _

If a student of class tenth of the school is randomly selected, what are the chances that he “belongs to section A or D”
and “got second grade”? / uﬁ;ﬁwaﬁai&naﬁ}%wmaﬁam?%aaﬂﬁgmm%, Wﬁﬂ-ﬂﬁm%ﬁ??&'
“q@if A T D & Siia 1T 7 SR IADT “gul Juft o g2

® 9%

® 12%

® 21%

® 25%

Correct Answer :-21%

25)
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Question Stimulus :-

Name the teeth which helps in piercing and tearing? / 3 &id ®T ATH dd15¢ S Y 3R T‘ﬁ@ﬁ x| He™dl
HT B2

® Incisor / P

® Canine /¥Gqd®

® Premolar / 3FIGTE
e Molar / <dl¢

Correct Answer :-Canine /3g®

26)
Question Stimulus :-

Two concentric circles are of radii 13 cm and 5 cm. Find the length of the chord
of the outer circle which touches the inner circle. / 3 & fad ga fF®! Bsant o=
13@%1 3R 5 I, §, ﬁwwﬁwﬁmﬁm@mﬁﬁﬁa’rmwaﬁm
Il

® 5¢m /5 9HI.
* 12cm/129H.
* 13cm /139,
® 15cm/159H.

Correct Answer :-12 cm / 12 91,

27)
Question Stimulus :-

As a responsible person, which of the following is not advisable? / U ﬁrﬂﬁﬂ'ﬂ' e &1 GEEARE] T B9 a1
HYF FATe & fog Sfad 187 82

® Using the right amount of ecofriendly pesticide to the crops / I & ﬁl'q CHEIEIR: RIITEI SIPd
YIS BT TART B

® Segregating wastes in to degradable and non degradable /- T¥ 3.17" 3R g T-Ié:r ﬁﬁ I TPR UET?ﬁ G|
JUH B

® Growing vegetables oneself using good amount of fertilisers and pesticides / 3] AT ® IdRB 3R

| & yaRT 9§ afewrdt sroe 3y fasefRra gt

(41)



® Recycle plastics using modern techniques / 3TYFH THTDI gRT WIREH BT TAYHU BT

Correct Answer :-Growing vegetables oneself using good amount of fertilisers and pesticides / 331 °TAT

H IRPI 3R TrepaRral & T 4 Jfesat 3raq iy fasiyd gidt &

28)
Question Stimulus :-

The magnetic effect of electric current was discovered by / ﬁ?ﬂ?{ URT & gaaﬂu THTT B @IS 37'@3 1R
gu dt

® Hans Christian Oersted / %’\‘T forfiraa ends
® Michael Faraday / HIg®Pd TS
® Graham Bell / ﬁ'zm C[S]

® TFEinstein / 3‘"3'\"&?
Correct Answer :-Hans Christian Oersted / 29 TShf3a 3RS

29)
Question Stimulus :-

Following table shows the grades obtained by the students of four sections viz.

A, B, C and D of class Tenth of Ram Manohar Boys School. Answer the following

questions using the information provided. / 7 a@iftre 3w aieR de®! & e & Fan

%ﬁ?ﬁ?mﬁgﬁ& B, C 3k D & ol gRT ui A0mET RRETdl 81 Sudas 18 71§ SHBRE ST SUANT H
q IR <l

Grades/ ol
Sections /gl | First/9geT | Second /GaT Third /AT
A 12 18 25
B 10 23 17
C ] 22 15
o 14 24 12

If a student of class tenth of the school is randomly selected, what are the chances that he belongs to section B and
obtained First grade? / Tf¢; faeerd @t H&m oadl & TP B B HHRIRT &1 ¥ AT STaT 8, T GHGT ¢ % a8 ot
B & 3idifa 3MmaT @ 3fiv Suat wyw Joft ong 22

® 4%

* 5%
(42)



® 6%

® 7%
Correct Answer :-5%
30)

Question Stimulus :-

Infiltration rate of water into the ground decreases due to / SI¢l BT Rl A Wwam HRUT ¢ SITdl %

® Desertification /m?ﬁ Coau)

® Deforestation / EF-ﬁT'EL?H
® Global warming / Telae arfaT

® Pollution / UgH Ul
Correct Answer :-Deforestation / G 7@

(43)



